
22

SK2687    Rev. -   9/06/13
Model: HWC30S2, Classic Warmers Merchandisers

1

2

3

11

12

14

16

15

17

18

13

20

19

7

7
21

22
23

30

33

29 28 27

34

35

36

19
31

32 37

38

7

39

40

41

42

44

36

45

34

43

7

7
24

25
26

5

4
6

7
8
9

10



23

Model: HWC30 CLASSIC MERCHANDISERS
Fig No. Part No. Description Qty Application

1 D5-MDW043 ASSY.,TOP SHELF,HWC30 1

2 D5-Z14749 INSULATION,TOP SHELF, 30”
1 HWC30S1, H1
2 HWC30S2, H2

3 D5-MDW044 LIGHT BAR WELD ASSY.,30”
1 HWC30S1, H1
2 HWC30S2, H2

4 2E-Y5921 SOCKET SPRING CLIP MOUNT
2 HWC30S1, H1
4 HWC30S2, H2

5 2S-Z13988 LT. BULB, 120V,60W
2 HWC30S1, H1
4 HWC30S2, H2

6 D5-MDW045 ELEMENT BAR WELD ASSY,30”
2 HWC30S1, H1
4 HWC30S2, H2

7 2C-72672 SCREW 10-24X3/8 PH PAN #F

66 HWC30H1
70 HWC30S1
98 HWC30H2

102 HWC30S2

8 2C-1494 SCREW 8-32X1/2 RHP STL NP
2 HWC30S1, H1
4 HWC30S2, H2

9 2N-Z14167 ELEMENT,TOP,120V,225W,30”
2 HWC30S1, H1
4 HWC30S2, H2

10 2B-Z14177 ELEMENT GUARD
4 HWC30S1, H1
8 HWC30S2, H2

11 2B-Z14042 DIVIDER ROD-24” DP SHELF
6 HWC30S1, H1

12 HWC30S2, H2

12 D5-MDW002 DIVIDER ASSY - 30”
2 HWC30S1, H1
4 HWC30S2, H2

13 2C-Z14444 SCREW, #8 X 3/8 PTH A,BL
16 HWC30S1, H1
32 HWC30S2, H2

14 2B-Z14041 STUD, COMMON - DIVIDER
4 HWC30S1, H1
8 HWC30S2, H2

15 2C-Z12619 LOCKNUT-1/4-20 NYL. INSRT
4 HWC30S1, H1
8 HWC30S2, H2

16
D5-Z14744 SHELF,PRODUCT,BTM,HWC30

1
HWC30S2, S1

D5-Z14748 SHELF,PROD.,MIDDLE,HWC30 HWC30S2, H1, H2

17 2N-Z14707 HEATER,FOIL,200W,120V,30”
1 HWC30S1, H1
2 HWC30S2, H2

18 D5-Z14315 SPACER,SHELF,STRIGHT,24”
2 HWC30S1, H1
4 HWC30S2, H2

19 2K-Z2895 BUSHING HEYCO OCB-500
4 HWC30S2, H2

HWC30S1, H1

20 2I-Z14398 INSULATION, 10 X 20 X 1/4
2 HWC30S1, H1
4 HWC30S2, H2

21 D5-Z14432 PLATE,POWER CORD,5-15,-20 1
22 2K-Y2968 BUSHING - HEYCO 7W-2 1 HWC30S2, H2

23 D5-MDW034 ASSY.,CONTROL PANEL,SINGL
1 HWC30S1, H1
2 HWC30S2, H2

24 2I-05-07-0013 BOOT SWITCH
1 HWC30S1, H1
2 HWC30S2, H2

25 2J-Z13654 PILOT LIGHT RECT-RED-120V
1 HWC30S1, H1
2 HWC30S2, H2

26 2R-Z14443 KNOB-1.56” DIA X 1”
1 HWC30S1, H1
2 HWC30S2, H2



24

STAR INTERNATIONAL HOLDINGS INC. COMPANY
Star - Holman - Lang - Wells - Bloomfield - Toastmaster

10 Sunnen Drive, St. Louis, MO 63143 U.S.A.
(314) 678-6303

www.star-mfg.com

Model: HWC30 CLASSIC MERCHANDISERS
Fig No. Part No. Description Qty Application

27 2T-Z14281 THERMOSTAT,
1 HWC30S1, H1
2 HWC30S2, H2

28 2E-Z12020 SWITCH-TOGGLE 2P ST
1 HWC30S1, H1
2 HWC30S2, H2

29 2E-Z14428 RELAY, 15A 50/60 HZ 120V
1 HWC30S1, H1
2 HWC30S2, H2

30 2E-Z14548 DIODE,POWER ISOLATING 20A
1 HWC30S1, H1
2 HWC30S2, H2

31 2K-8043 BUSHING HEYCO SB-875-10
4 HWC30S1, H1
6 HWC30S2, H2

32 2C-1522 SCREW 1/4-20X.5 STL R.H.
16 HWC30S1, H1
24 HWC30S2, H2

33 2C-08-07-0262 WASHER, SS 1/4 INT - LOCK
16 HWC30S1, H1
24 HWC30S2, H2

34 2C-08-07-0207 NUT 10-24 HEX STL NP 16 HWC30S2, H2

35
D5-MDW010 ASSY, UPPER GLASS CHNNL, FL 4 HWC30H1, H2
D5-MDW014 ASSY,UPPR GLASS CHANNEL 2 HWC30S2, S1

36

2Q-Z14290 GLASS, SIDE, DUAL, FLAT

4

HWC30H2
2Q-Z14291 GLASS, SIDE, SINGLE, FLAT HWC30H1
2Q-Z14292 GLASS, SIDE, DUAL, SLANT HWC30S2
2Q-Z14293 GLASS, SIDE, SINGLE, SLANT HWC30S1

37
D5-MDW009 ASSY, LOWER GLASS CHNNL, FL 4 HWC30H1, H2
D5-MDW013 ASSY,LOWER GLASS CHANNEL 2 HWC30S2

38

D5-Z14287 COVER, SIDE,DUAL FLAT 2 HWC30H2
D5-Z14316 COVER,SIDE,RIGHT,DUAL, 1 HWC30S2
D5-Z14721 COVER,SIDE,RIGHT,SINGLE 1 HWC30S1
D5-Z14849 COVER, SIDE,SINGLE, FLAT 2 HWC30H1

39 2A-Z12946 BASE, FOOT, NON-SKID 4 HWC30S2, H2
40 2A-Z11711 4” FOOT BASE 4 HWC30S2, H2
41 D5-Z14745 BOTTOM PANEL,STD.,30” 1
42 D5-MDW016 ASSY,CHANNEL,FEET,24”DEEP 2

43
D5-Z14321 COVER, SIDE, LEFT, DUAL 1 HWC30S2
D5-Z14722 COVER, SIDE, LEFT, SINGLE 1 HWC30S1

44 D5-MDW017 ASSY,LOWER GLASS CHANNEL 2 HWC30S2, S1
45 D5-MDW015 ASSY,UPPER GLASS CHANNEL 2 HWC30S2, S1
NI D5-HWP006 CORD SET 14-3 SJTO 6-8 1
NI D5-MDW089 CORDST AY, 120V, 5-20P, 12/3 1 HWC30S2C, H2C


